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1. Introduction

During the PSM adhoc it has been requested to open the discussion on SDI as a mechanism answering to the error recovery and error handling mechanism for DIMS.

This contribution provides our analysis on the initial SDI contribution as provided in previous meeting.

2. Analysis 
The problem of general difference between two XML documents that is presented in SDI is:
- NP-hard 
- not meaningful: differences are calculated on two different documents, which seems not  to be useful as in usual service the only useful differences are between successive versions of the same document, so the general structure is necessarily the same 

When differences are between two documents from the same origin, i.e successive versions of the same document, the list of updates to transform one to the next is straightforward to compute. The difference is a list of updates in the same format as scene updates.
The SDI contribution intends to define a format which describes the difference more compactly or in a better way than the list of scene updates transforming one document into the other.. Without information of what the SDI form could be, it is difficult to make a clear analysis on SDI. 

SDI and Priority:

The priority given to a difference in SDI cannot be computed automatically, as was discussed earlier within SA4. The example mentioned by Orange/FT of a traffic light changing from green to red illustrates small changes that can have enormous semantic impact. If the author needs to give the priority, then it is a burden that they never accept to assume. Otherwise there is no way to get this priority. 

Analysis of Example 1: 
This use case seems not tobe a DIMS use case. It present information that are totally independent from the device:, the device sees no difference at all, it is a purely server or authoring tool matter and as such, we think, outside of the scope of DIMS / 3GPP standardisation.

The process described in this slide is not economically viable.

The starting state is NEVER two documents, always a first document and a changed information. All authoring processes work as first document + changes. 
It is so much simpler  and cheaper for the author to do first document + changes that doing anything else is not economically viable.


Analysis of example 2: 
If we have not misinterpreted, this use case is not working: "SDI is calculated on the receiver" , which is impossible: the receiver has LOST info, so it cannot compute the differences from what it has to what it should have received. If it can do anything, it means it has not lost any info.

Even if the receiver somehow had the information, then the receiver does not have resources to do this heavy computation to solve an NP-hard problem.

3. Conclusion

For the reason describe above, we think SDI as it stand today is not a suitable mechanism for error handling and error recovery mechanism for DIMS. 
